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425 AV TaWNT
126 | INRTT
427 AU 580 120 700
428 | T=)THINT 121 114 235
129 | AEALTELAT L 12 12
430 AL REXY AT 5.0 5.0
431 |7V F L ARBEY 424 424
432 |[7INTR 80 80
433 | F1—/ 4
134 FFHIL 7.2 7.2
435 LUy IAF L 7.6 7.6
436 | TNT 7 —AFNAF L
437 |3—AFNF AT —)L
438 AFNFTHLY 2.5 341 0.33 0.021 344
439 [3—AFAEYI
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HECTHE TR (ke/ B, 2 1A %o > Bldme TEQ/AE)
wE 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 ﬁi%g E%%ﬁ
| WA, HEHRD | e | g | TR RV AL B | W= im0 ~ FREE .. | B | % | AVUR | A | SEs ks K - it
B BEREOT | R | B B R S PEJE PR S R aww | e P pin | e | e | R el e et | e WL_L;M W;g&im
1—AF ) —1—T==)L=F)L=kRn~=
440 AAFR 0.002 0.002 0.004
441 2— (1 —AFLTEEN) —4, 6—V=Fr
Tx/)—)V
442 A7 m=)v
443 | AV 278 278
444 [N 7afx v AkrE 10 10
445 | JLIFX T BATF IV 288 288
446 |4, 4’ —AFLL VT =)
447 AFLUER(4, 1—Y7un~ngdily) =y
AT F—h
448 i}‘:fj\//l:;((4, 1—Tz=L) =AYy 10 0.019 10
EN
449 [T AT 4T 7
450 |[EVTFHLT 162 162
451 |2—ARFL —5—AF LT =V
452 |2— AV HT RS F T —)L 0.20 0.20
453 |[BVT TV R OZEDILEY 1.8 69 21 92
454 |2— (BNKRY ) OFA) S F T —) 0.027 0.027
455 |[FEIHRI 4.1 7.2 11
456 WAALT AVI=T 4 55 55
457 [V 7a)LIRA 829 829
458 WABER)A(2—=F L~F L)
459 WARENA(2— Zanx L)
460 |WAFERY YL 0.70 0.70
461 [WAFER) 7 = =)L 1.9 1.1 3.0
462 WABBN)— )V~ — T F )L
& Z 265,779 254,735 3,128 7,671 204,740 52,216| 664,722 62,246] 65,547 7,487 708,407 20,990 40,971 78,285| 3,195 1,255| 1,275 76,006 225 15,216/ 37,990 1,837 14,028] 2,587,728
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